
Paper 1 (Section A) 

Question No. Key Question No. Key 

1. D (79%) 21. D (79%)

2. A(89%) 22. C (57%)

3. A(43%) 23. A(77%)

4. B (88%) 24. B (88%)

5. A(90%) 25. C (61%)

6. C (70%) 26. C (36%)

7. B (76%) 27. B (59%)

8. C (77%) 28. A(61%)

9. D (57%) 29. D (74%)

10. A(44%) 30. B (78%)

11. A(55%) 31. C (77%)

12. C (39%) 32. B (41%)

13. A(91%) 33. A(33%)

14. B (89%) 34. B (64%)

15. D (64%) 35. A(73%)

16. D (60%) 36. D (88%)

17. B (91%) 37. C (89%)

18. A(58%) 38. D (67%)

19. D (66%) 39. B (94%)

20. C (78%) 40. C (85%)

Note: Figures in brackets indicate the percentages of candidates choosing the correct answers. 
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Marks 

3. (a) (i) <D understanding of duplex communication mode
<D advantage (simultaneous communication) 

(ii) <D understanding of synchronous transmission
<D advantage (lower overhead/higher throughput)

(iii) <D understanding of circuit switching
<D advantage (a dedicated connection)

(b) (i) source address, destination address, length of the packet, checksum, identification tag,
priority (Quality of Service), hop count/TTL (Time to live), port number 

(ii) A checksum will be calculated for error checking.
The data packets are reassembled in the correct order.

(c) (i) 1024 - 40 = 984 bytes

(ii) 2 x 1024 x 1024 / 984 = 2132 packets

(iii) (2132 X 1024 X 8) / (1000 X 1000) = 17.5 S

4. (a) (i) There are fewer hosts in a LAN. I The coverage of a LAN is smaller./
The complexity of a LAN is simpler. 

(ii) Provide a better routing control between zones. I Connect the four different subnets.

1X3 

2

2

 

(b) Network logon, access control 1X2 

(c) (i) 256/4 -2
=62 

(ii) 255.255.255.192
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Marks 

(d) @ the switch in Zone A, connecting to the router and the 10 servers *
@ a domain controller in Zone A, connecting to the switch *
@ the firewall in Zone A, connecting to the Internet and the router *
<D two switches in Zone D
<D all 20 computers well connecting to the switches
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* Marking criteria
@ Illustrate a comprehensive and logical answer
CD Illustrate a relevant answer
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Paper2D 

I. (a) (i)

Task I:
Task 2:
Task 3:
Task 4:
Task 5:

© Task 4 

3 4 5 

© only I arrow correct / @ all arrows correct
(ii) Task 2 ->- Task 3 _,. Task 4
(iii) 10

(b) (i)

© I or 2 mistakes
@ all correct

(ii) for i from 1 to 5
for j from 1 to 5

if M[i,j] = T 

6 7 8 9 

print the dependency: Task i depends on Task j 

(c) 

���P=P=l-+ 
� LU!J LU!J 

�Null pointer ... LJ_:_J 

Note: The order of the nodes is not necessary.
(d) (i) Users are easier to use the GUI.

The GUI has a better outlook.
(ii) Pointer (mouse pointer) / cursor 

Icon / window / menu / button / image
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4. 

Marks 

(a) 3 1 

(b) � [§ (j) li+a-11 b +b-ll (j) 4 

IFALSEI (j) 

!TRUE! (j) 

(c) (i) 3 1 

(ii) 1 1 
y -E- 1 1 
K + Multiple 1 

Multiple* 2 1 

Alternative 1:
0 (j) 
y -E- 1 (j) 
K + 2"Multiple (j) 
Multiple+ 1 (j) 

2: 

(j) 
2"(i-1 ® 

(ii) Calculate the K value of P and match it with the values in B2 and count the number of K values. l, I

(ii) No: 2* 
Sorting is required before doing the binary search. / Extra memory storage is required. /
Binary search cannot handle multiple occurrences.
Hence, in general, the work done for sorting outreaches the work done for sequential search.

Yes:
B2 is transformed into an array to which the binary search can be applied. Hence it increases the
efficiency of the searching or pattern matching.

* Marking criteria
@ Illustrate a comprehensive and logical answer
<D Illustrate a relevant answer
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